

עליכם להגיע למטמון - עברו רק דרך פתח המוביל למשבצת שרשום בה תרגיל נכון.

סמנו את המסלול .

 START	$3^2 \cdot 3^2 = 3^4$	$\frac{5^3}{5^3} = 5$	$3 \cdot 2^3 = 6^3$	$2^2 + 2^3 = 2^5$
$3^2 + 3^4 = 3^6$	$\frac{5^3}{5^2} = 5$	$104 - 4 \cdot 5^2 = 2^2$	$2^4 = 4^2$	$10 - 2^2 = 64$
$7^5 = 5^7$	$5x^2 \cdot 2x = 10x^2$	$1^{23} = 23$	$(2 \cdot 3)^2 = 2^2 \cdot 3^2$	$64:2^3 + 2^2 \cdot 5 > 5^2$
$(4 - 3)^2 = 4^2 - 3^2$	$1 + 3 \cdot 2^2 = 16$		$(2 + 3)^2 = 2^2 + 3^2$	$2 + 5 \cdot 3^2 = 47$
$4 \cdot 2^2 = 64$	$\frac{100}{5 \cdot 2^2} = 1$	$(6:3)^2 = 6^2:3^2$	$6a \cdot 8a^2 = 48a^3$	$\frac{8^7}{8^6} = 8$